Pensieve Header: Inverting R[1,1] in 8-calculus and taking its square root.
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{ar [1, 1], F[c[l]1]ar[1l, 1]} // BForm
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{(t[ll 1 ) (t[l] F[C[l]])}

ar [1, 1] *%x (aar[1, 1]) // BForm
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Solve[l+a+ac[l] =0, a]
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{R[1, 1], F[c[1]]ar[1, 11} // BForm
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R[1, 1] ** (aar[l, 1]) // BForm
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a /. First@SoIve[ =0, a] // Full Sinplify
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R[1, 17,
(aar [1, 1]) ** (aar [1, 1])
} // BForm
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a /. First eSol ve[

= a(2+ac[l]), a] // FullSimplify
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R[1, 1, -1] »*R[1, 17,

R[1, 1, 1 /2] **xR[1, 1, 1/2] *xR[1, 1, -1],

R[1, 1, -1/2] »=R[1, 1, 1/2],

R[1, 1, 1 /371 *xR[1, 1, 1 /31 **xR[1, 1, 1 /3] // FullSinplify

} // BForm
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